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QUESTION 1

Which of the following is not a non-linear effect?
A. Self-phase modulation (SPM)

B. Dispersion

C. Raman scattering

D. Four-wave mixing (FWM)

Correct Answer: B

QUESTION 2

Which of the following technologies is the main difference between an open DWDM system and an integrated DWDM
system?

A. Wavelength conversion technology

B. Optical amplification technology

C. Multiplexing/Demultiplexing technology
D. Optical supervisory technology

Correct Answer: A

QUESTION 3

When an optical fiber between node A and node B is broken, the FIU on node B detects the OTS_LOS alarm and
inserts the OTS_BDI alarm to node A. The FIU on node A reports the OTS_BDI alarm. The line board on the
downstream C node reports the OCh_SSF alarm.

A. TRUE

B. FALSE

Correct Answer: A

QUESTION 4

When the LCAS function is used/ which of the following overhead bytes are used to transmit control information?
(Multiple Choice)

A. M1

B. H4
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Correct Answer: BD

QUESTION 5

In the 2.5G MSP ring consisting of four MSTP sites, when a protection switching occurs, which of the following
statements about the alarm reporting is correct?

A. The PS alarm is reported on the tributary board.

B. The APS-INDI alarm is reported on the XCS board.

C. The APS-INDI alarm is reported on the system control board.
D. The APS-INDI alarm is reported on the line board.

Correct Answer: B
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